ADDITION OVER 100
KS1 —-2001 Paper

1.

23 | Write the total.

I00 + 90 + 80 =

KS1 —-2003 Paper 2

2.

9 | Write the total.

138 + 62 =




Match each addition to its answer.

One is done for you.

20 + 20 + 20

80 + 80 + 80 + 80

60 + 60 + 60 + 60 + 60

320

30

60

300

360

340




Write the missing number in the box.

L56 + = 710

KS1 —2004 Paper 2

5.

Write the total.

200+ LO+ 7 =




Write the total.

156 + 83 =

KS1 — 2005 Paper 1

7.

Write the answer.

LO+ 10+ 50+ 20 =

KS1 — 2005 Paper 2
8.



Write the answer.

150 + 56 =

KS1 - 2007 Paper 2

9.

6

10.

Write the missing numbers.

36l

945

60

900

* 5|




22

Write the total.

175 + 65 =

KS1—2018 Paper — Arithmetic

11.

99 + 10 =




